gl. Which, if any, of the following do you personally drive?
Please tick all that apply.

Unweighted Base

Effective Base

a private car for commuting

a private car for personal use

a company car

a commercial van

alorry

a coach/bus

a motor bike

other on road motorised vehicle

None of these

Q2. Thinking about the last 12 months how many miles do
you think you have driven in total including private and
work mileage?

Unweighted Base

Effective Base

Less than 5,000

5,000-10,000

10,001-20,000

20,001-30,000

30,001-40,000

Over 40,000 miles

Not sure

Bristol

500

458

28%

64%

2%

2%

1%

1%

3%

1%

30%

362

333

42%

39%

14%

1%

1%

1%

2%



g3. In which, of these, if any, are you a _passenger_once a
week or more often? Please tick all that apply

Unweighted Base

Effective Base

a private car for commuting

a private car for personal use

a company car

a commercial van

alorry

a coach/bus

on a motor bike

other on-road motor vehicle

None of these

g4. Which of these applies to the street or road where you
live?

Unweighted Base
Effective Base

My street/road has 20mph limits on all or some of it

My street/road does not have any 20 mph limits

I am not sure/don’t know

g5. Are you aware of any (more) plans for 20mph limits in
your area?

Unweighted Base
Effective Base

Yes

No

Not sure / don't know

g6aa. Strongly support | Strongly oppose
Unweighted base

Strongly Support

500

458

9%

44%

2%

1%

19%

0%

0%

41%

500

458

15%

75%

11%

500

458

43%

46%

11%

500
36%



Support

Oppose

Strongly Oppose

Dont Know

Support

Oppose!

Mean

StdDev

g6ba. Strongly support | Strongly oppose

Unweighted base

Strongly Support

Support

Oppose

Strongly Oppose

Dont Know

Support

Oppose!

Mean

StdDev

g7. Here are some reasons people might _support_ 20mph
speed limits. Which of these do you agree with? Please
tick all that you _agree_ with. 20mph limits will ...

Unweighted base

mean fewer serious accidents on the roads

mean children can play more safely

make our streets more pleasant to live in

29%

19%

14%

2%

65%

33%

0.54

1.48

500
41%

34%

14%

10%

2%

75%

24%

0.81

1.36

500
69%

56%

46%



encourage more walking and cycling

reduce noise

improve the quality of life

improve traffic flow

reduce pollution

encourage a healthier way of life

reduce congestion

None of these

Don’t know

g8. Here are some reasons people might _oppose_ 20mph
speed limits. Which do you agree with? Please tick all that
you _agree_ with. 20 mph speed limits will...

Unweighted base

be ignored by many drivers so of limited benefit

not be policed and enforced effectively

be pointless as many people will ignore them

make journey times longer

increase congestion

increase pollution

make the quality of life worse for local residents

be too expensive

increase accidents

None of these

Don’t know

36%

34%

26%

17%

19%

19%

1%

1%

2%

500
58%

52%

46%

36%

33%

18%

10%

12%

6%

12%

3%



g9_1. 20mph limits are a good idea in theory but are
unlikely to make a worthwhile difference : How strongly do
you agree or disagree with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q9_2. If a camera or police are present 20mph speed limits
are more likely to be obeyed : How strongly do you agree
or disagree with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

500

458

11%

33%

22%

28%

7%

43%

35%

0.12

0.05

500

458

39%

51%

6%

3%

1%

90%

4%

1.23



StdDev

StdErr

q9_3. Breaking speed limits is not acceptable in most
circumstances : How strongly do you agree or disagree
with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q9_4.'In general, people obey 30mph limits' : How strongly
do you agree or disagree with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

0.79

0.04

500

458

34%

42%

13%

8%

2%

77%

10%

0.98

1.00

0.04

500

458

3%

41%

20%

30%

6%

44%

36%



Mean

StdDev

StdErr

g9_5. I hope the police will enforce 20mph limits : How
strongly do you agree or disagree with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g9_6. If 20mph limits were introduced most drivers would
not stick to them : How strongly do you agree or disagree
with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

0.04

1.03

0.05

500

458

24%

33%

19%

13%

1%

57%

23%

0.48

1.27

0.06

500

458

19%

52%

14%

13%

3%

70%



Net: Disagree

Mean

StdDev

StdErr

q9_7. 20mph speed limits should be the norm everywhere
in residential areas : How strongly do you agree or
disagree with these statements?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q9_8. I support 20mph speed limits outside my home but
not so much elsewhere : How strongly do you agree or
disagree with these statements?

Unweighted Base
Effective Base
Strongly agree [2]
Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

16%

0.71

1.00

0.04

500

458

17%

33%

16%

20%

15%

50%

35%

1.33

0.06

500

458

3%

8%

23%

42%



Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

gq10_1.'lIf a 20mph speed limit is introduced, | may not stick
to it." : How strongly do you agree or disagree with each
statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g10_2. 'l use my own judgement, not speed limits, to
decide on my speed on the road' : How strongly do you
agree or disagree with each statement.
Unweighted Base
Effective Base

Strongly agree [2]

Tend to agree [1]

23%

1%

65%

-0.74

1.01

0.05

362

333

6%

28%

20%

31%

16%

34%

47%

-0.23

0.06

362
333
6%

22%



Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g10_3. 'l tend to drive slowly near where | live, but not so
much in other residential areas' : How strongly do you
agree or disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q10_4. | will be careful to observe new 20 mph limits
wherever they are : How strongly do you agree or disagree
with each statement.

Unweighted Base
Effective Base

Strongly agree [2]

20%

31%

20%

28%

52%

-0.38

1.21

0.06

362

333

1%

8%

14%

50%

26%

9%

76%

-0.92

0.92

0.05

362
333
20%



Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q10_5. If I think a road with a 20mph limit is clear | will be
more likely to drive more quickly than 20 mph : How
strongly do you agree or disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g10_6. It is just too difficult to stay at 20mph : How strongly
do you agree or disagree with each statement.

43%

18%

14%

5%

63%

19%

0.60

0.06

362

333

10%

31%

21%

27%

11%

42%

38%

0.04

1.20

0.06



Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q11_1. 'Most people who break 20mph speed limits don’t
mean to, they simply didn’t notice the limit was 20mph' :
How strongly do you agree or disagree with each

statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

362

333

14%

34%

17%

25%

9%

48%

34%

0.19

1.22

0.07

500

458

4%

32%

29%

31%

5%

36%

35%

0.01

0.99

0.04



g11_2. Many people who break 20mph limits do so
knowingly : How strongly do you agree or disagree with
each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g11_3. Most people are not very good at driving : How
strongly do you agree or disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

500

458

16%

53%

20%

9%

1%

70%

10%

0.76

0.86

0.04

500

458

8%

30%

38%

22%

2%

37%

24%

0.19

0.94



StdErr

g11_4. Most people drive too slowly : How strongly do you
agree or disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g11_5. Most people drive too quickly : How strongly do you
agree or disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

0.04

500

458

1%

5%

24%

52%

18%

7%

70%

-0.80

0.83

0.04

500

458

13%

49%

22%

13%

2%

62%

16%

0.56



StdDev

StdErr

g11_6. | wish everyone would slow down a bit on the roads
: How strongly do you agree or disagree with each
statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

gqll_7. 1 believe | am one of the first amongst the people |
know to appreciate the wider impact of the 20 mph speed
limit : How strongly do you agree or disagree with each
statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]
Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

0.95

0.04

500

458

17%

40%

24%

14%

4%

58%

18%

0.53

1.06

0.05

500

458

3%

1%

44%

29%

13%

15%



Net: Disagree

Mean

StdDev

StdErr

gl1_8. | have discussed the 20mph speed limit with other
people : How strongly do you agree or disagree with each
statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g12. | would describe my driving as ... Please tick all that
apply
Unweighted Base
Effective Base
careful
confident
in-control at all times

non-confrontational

intelligent

42%

-0.37

0.97

0.04

500

458

7%

26%

19%

23%

25%

33%

48%

-0.32

1.29

0.06

362

333

60%

53%

42%

51%

43%



relaxed

safe at all times/ never risky

assertive

quick

timid

slow

risk taking on some occasions

none of these

g13_1. | am a better than average driver : How strongly do
you agree or disagree with each statement ...?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g13_2.'0On occasions, | knowingly drive faster than speed
limits where | think | can do so safely' : How strongly do
you agree or disagree with each statement ...?
Unweighted Base
Effective Base

Strongly agree [2]

43%

32%

24%

9%

4%

7%

14%

2%

362

333

9%

27%

51%

1%

1%

36%

13%

0.32

0.83

0.04

362
333
9%



Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g13_3. My driving speed is often influenced by who else |
have in the vehicle. : How strongly do you agree or
disagree with each statement ...?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g13_4. 1 tend to unconsciously drive faster than speed
limits quite often : How strongly do you agree or disagree
with each statement ...?

Unweighted Base

44%

14%

23%

10%

53%

33%

0.20

0.06

362

333

5%

22%

13%

38%

23%

27%

60%

-0.51

1.21

0.06

362



Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g14. How many friends, acquaintances or family (excluding
children under 16) do you have in your local area?

Unweighted Base
Effective Base
Less than 5

5-9

10-14

15 or more

g15. How many of these people would regard you as a
person whose views on driving are particularly taken
notice of?

Unweighted Base
Effective Base
Most

Some

A few

None

333
2%

25%

21%

37%

15%

27%

52%

-0.37

1.07

0.06

500

458

30%

27%

16%

27%

500

458

9%

30%

27%

34%



gq16_1. | tend to drive at the speed of other people on the
road : How strongly do you agree or disagree with each
statement

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q16_2. 'l don’t much engage with speed limits, | just go
with the flow' : How strongly do you agree or disagree with
each statement

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

362

333

3%

37%

25%

28%

6%

40%

34%

0.03

1.02

0.05

362

333

2%

16%

17%

48%

16%

19%

64%

-0.60

1.01



StdErr

q16_3. | take a strong personal interest in the skills of
driving : How strongly do you agree or disagree with each
statement

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

gq16_4. | take a pride in my own driving skill : How strongly
do you agree or disagree with each statement

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

0.05

362

333

9%

36%

33%

20%

2%

45%

22%

0.30

0.96

0.05

362

333

13%

50%

27%

8%

1%

63%

10%

0.65



StdDev

StdErr

q16_5. People will ignore 20mph limits because they don’t
see themselves getting caught by the police : How strongly
do you agree or disagree with each statement

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q16_6. 1 am influenced by more experienced or skilful
drivers that | know personally : How strongly do you agree
or disagree with each statement

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

0.85

0.05

362

333

17%

58%

14%

10%

1%

75%

10%

0.82

0.85

0.05

362

333

2%

28%

36%

26%

8%

30%



Net: Disagree

Mean

StdDev

StdErr

gl7. Would you be willing to play an active role in
supporting new 20mph limits by doing the following?
Please tick all that apply, if any.

Unweighted base

| would not be able to or be interested in playing an active role
in supporting new 20mph limits

By driving at 20mph limits myself even if others do not

By signing a pledge to support 20 mph

By using a rear window sticker to show my support for 20mph
limits

By getting involved in neighbourhood campaigning

By joining a neighbourhood speed watch campaign

By using a speed gun as part of a neighbourhood campaign

g18_1. | think people should be free to drive at whatever
speed they want to : How strongly do you agree or
disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

35%

-0.11

0.98

0.05

500

46%

38%

24%

13%

8%

10%

8%

500

458

2%

4%

8%

26%

60%

7%

86%

-1.37



StdDev

StdErr

gq18_2. If everyone was free to drive at their own speed
there would be more accidents : How strongly do you
agree or disagree with each statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g18_3. 20 mph limits are an example of the nanny state
How strongly do you agree or disagree with each
statement.

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]
Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

0.96

0.04

500

458

44%

35%

9%

8%

4%

78%

12%

1.06

0.05

500

458

13%

17%

21%

29%

20%

30%



Net: Disagree

Mean

StdDev

StdErr

g19. Please tick any of these that apply
Unweighted Base
Effective Base
| tend to walk for many local journeys (up to a mile)
| tend to cycle for many local journeys (up to 5 miles)

| use public transport for many local trips

None of these

g20_1. People should be encouraged to cycle for short
everyday trips : How strongly do you agree or disagree?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

q20_2. People should be encouraged to walk for short
everyday trips : How strongly do you agree or disagree?

49%

-0.26

1.31

0.06

500

458

74%

19%

36%

16%

500

458

28%

36%

20%

8%

8%

65%

15%

0.70

0.05



Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

20_3. It would be a good thing if more short everyday
journeys were done by bicycle : How strongly do you agree
or disagree?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

500

458

48%

42%

7%

1%

2%

90%

3%

1.33

0.83

0.04

500

458

32%

37%

17%

6%

8%

69%

14%

0.79

1.19

0.05



q20_4. 'If traffic was slower, | would walk more' : How
strongly do you agree or disagree?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

g20_5. 'If traffic was slower, | would cycle more' : How
strongly do you agree or disagree?

Unweighted Base

Effective Base

Strongly agree [2]

Tend to agree [1]

Neither agree nor disagree [0]

Tend to disagree [-1]

Strongly disagree [-2]

Net: Agree

Net: Disagree

Mean

StdDev

StdErr

500

458

5%

12%

35%

30%

19%

17%

48%

-0.45

1.07

0.05

500

458

12%

20%

25%

20%

23%

32%

43%

-0.23

1.32

0.06



voting intention question
Unweighted Base 500
Effective Base 458
Conservative 18%
Labour 25%
Liberal Democrat 8%
UKIP 8%
Green Party 11%
Scottish National Party (SNP) 1%
Plaid Cymru 1%
Another party 3%

Would not vote 6%

Don’t know 20%

How strongly do you support or oppose a 20mph speed limit in residential areas?

Gender
Total
Male Female
g6aa. Strongly
support |
Strongly oppose
Unweighted base 500 231 269
Strongly Support 36% 35% 36%
Support 29% 23% 36%
Oppose 19% 20% 17%
Strongly Oppose 14% 20% 9%
Dont Know 2% 2% 2%
Support 65% 58% 72%
Opposel! 33% 40% 26%
Mean 0.54 0.34 0.73
StdDev 1.48 1.59 1.33

Voting Intention

Conservativ

UKIP
e

42 87
34% 24%
16% 28%
28% 21%
23% 25%

- 2%
49% 52%
51% 46%
0.09 0.05

1.66 1.57



How strongly do you support or oppose a 20mph speed limit on busy streets e.g busy shopping streets.

g6ba. Strongly
support |
Strongly oppose

Unweighted base

Strongly Support

Support
Oppose

Strongly Oppose

Dont Know
Support
Oppose!
Mean
StdDev

g6aa. Strongly
support |
Strongly oppose

Unweighted base

Strongly Support

Support
Oppose

Strongly Oppose

Dont Know
Support
Oppose!
Mean
StdDev

500

41%

34%
14%
10%
2%
75%
24%
0.81
1.36

500

36%

29%
19%
14%
2%
65%
33%
0.54
1.48

231

37%
30%
18%
14%
2%
67%
31%
0.60
1.47

UKIP

42

34%
16%
28%

23%

49%
51%
0.09
1.66

269

44%

38%
10%
7%
1%
82%
17%
1.02
1.21

Voting Intention

Conservativ
e

87

24%

28%
21%
25%
2%
52%
46%
0.05
1.57

42

35%
29%
5%
25%
5%
65%
30%
0.45
1.62

Labour

127

40%

31%
16%
1%
1%
72%
27%
0.73
1.42

87

27%
27%
31%
13%
2%
54%
44%
0.25
1.46

Liberal
Democrat

41

51%
23%
14%

12%

74%
26%
0.86
1.49

How strongly do you support or oppose a 20mph speed limit on busy streets e.g busy shopping streets.

g6ba. Strongly
support |
Strongly oppose

Unweighted base

500

42

87

127

4



Strongly Support

Support
Oppose

Strongly Oppose

Dont Know
Support
Oppose!
Mean
StdDev

g6aa. Strongly
support |
Strongly oppose

Unweighted base

Strongly Support

Support
Oppose

Strongly Oppose

Dont Know
Support
Oppose!
Mean
StdDev

How strongly do you support or oppose a 20mph speed limit on busy streets e.g busy shopping streets.

g6ba. Strongly
support |
Strongly oppose

Unweighted base

Strongly Support

Support
Oppose

Strongly Oppose

Dont Know
Support
Oppose!

Mean

41%
34%
14%
10%
2%
75%
24%
0.81
1.36

500

36%
29%
19%
14%
2%
65%
33%
0.54
1.48

500

41%
34%
14%
10%
2%
75%
24%
0.81

35%
29%
5%
25%
5%
65%
30%
0.45
1.62

Green Party

50

44%

36%
15%

5%

80%
20%
0.98
1.24

50

56%

31%
10%

3%

87%
13%
1.27

27%

27%
31%
13%
2%
54%
44%
0.25
1.46

Other

17

23%

50%
12%

15%

73%
27%
0.54
1.40

17

23%

46%
16%

15%

69%
31%
0.46

43%
40%
6%
10%
1%
83%
16%
0.99
1.27

64%
22%
1%

4%

86%
14%
1.32
1.15



SthevI 1.36

1.09

1.43



























































































50

17




56%
31%
10%

3%

87%
13%
1.27
1.09

23%
46%
16%

15%

69%
31%
0.46
1.43
































































































































































































































































































